A & 0l & A
20179 = =34 3 &l JIEtSEAH ™ G dAH)
2Ok 22 - IBAY - SRAAH (S H) Ol &k o J &3 oA HwE2 =28
5 Al 31,760,000 31,000,000 760,000 2.45%
ALY 28,413,097 27,667,401 745,696 2.70%
HWegs 3,138,631 3,124,327 14,304 0.46%
HE2HZH 208,272 208,272 0 0.00%
g}FES 5,008,000 4,357,000 652,000 14.96%
ot - =2 5,009,000 4,357,000 652,000 14.96%
Q- H= 2l 2,200,989 1,561,190 639,799 40.98%
=2 (=2IHLSE3AH) 2,200,989 1,561,190 639,799 40.98%
Heags(sMedi) 2,808,011 2,795,810 12,201 0.44%
UWERHHXES(=ENESE3A) 2,795,810 2,795,810 0 0.00%
SBENE(=ENLEESH) 12,201 0 12,201 =35
NIE=PN 6,494,000 6,184,000 310,000 5.01%
IZdEEd 3,764,000 3,584,000 180,000 5.02%
S HESEH 3,435,483 3,255,483 180,000 5.53%
NASFAHAAIIS(MASFUFAHAFIIZSS 1,314,000 1,134,000 180,000 15.87%
SE3AH)
AEZNHYRFI(AZES0ISELEA) 2,121,483 2,121,483 0 0.00%
HRE S (A3 =X 328,517 328,517 0 0.00%
SBENE(A2S0HIISEL3AH) 328,517 328,517 0 0.00%
Atgl = X & gt 2,730,000 2,600,000 130,000 5.00%
FUAS dEXH 2,730,000 2,600,000 130,000 5.00%
FUAS MBI (FUALASTAL US| 2,730,000 2,600,000 130,000 5.00%
SEg3lA)
F=S5HWES 7,250,000 7,250,000 0 0.00%
hsns - =5s)IE 7,250,000 7,250,000 0 0.00%
ns2e| 7,250,000 7,250,000 0 0.00%
FUE =4 L 2e(=UESESAH) 7,250,000 7,250,000 0 0.00%
=EYX AN 12,798,728 13,000,728 A 202,000 A 1.55%
=Xk 8,418,728 8,418,728 0 0.00%
ot& 2tel 8,418,728 8,418,728 0 0.00%
SHEL(X=ASEE3IAH) 2,330,332 2,330,332 0 0.00%
HFHNAEHMG (XI=AMLEL3) 6,088,396 6,088,396 0 0.00%
NS E A 2,622,000 2,882,000 A 260,000 A 9.02%
S ADOHE 881,000 1,082,000 A 201,000 A 18.58%




20179 = =34 3 &l JIEtSEAH ™ chel &)
2Ok 22 - IBAY - SRAAH (S H) Ol &k o J &3 oA HwE2 =28
SAJISEHOIBALEELESA) 575,000 775,000 2A200,000 A25.81%
ZOIDIEECAIAEAEUHX A (012 = 306,000 307,000 A 1,000 A0.33%
ANAHSANEUXELALASESAH)

FHZ MM ALY 1,741,000 1,800,000 59,000 N3.28%
FHEIMEAG (FAHASBZHEMLSE S H) 1,741,000 1,800,000 259,000 A 3.28%
lgcaR= N| 1,758,000 1,700,000 58,000 3.41%
s3HNTHdL2I 1,755,897 1,700,000 55,897 3.29%
sSHAsEs A (SSNIAZLEALELSA 1,755,897 1,700,000 55,897 3.29%

)
Hees(Exdata) 2,103 0 2,103 =3
SHNE(sSANAZLMLELIA) 2,103 0 2,103 =3
JIE 208,272 208,272 0 0.00%
JIEt 208,272 208,272 0 0.00%
HHE2HZH (&) 208,272 208,272 0 0.00%
A HEHI(X=AILELE3IA) 208,272 208,272 0 0.00%




